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ДНК → РНК → белок       признак



������ — ������
 ����. ������ ��
���� 
(���������) — �
� ����� �����	. �������
��	��, 
������� ������ ���� — ����������� ������
��.
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 ����	 1
5’ – T  A  C   T  G  A  A  A  G  T  C  G  C  A – 3’

3’ – A  T  G   T  C  T  T  T  C  A  G  C  G  T – 5’
|    |    |    |    |    |    |    |    |    |    |    |    |    |

 ����	 4
5’ – T  A  C   –  G  A  A  A  G  T  C  G  C  A – 3’

3’ – A  T  G   –  C  T  T  T  C  A  G  C  G  T – 5’
|    |    |    |    |    |    |    |    |    |    |    |    |    |

 ����	 3
5’ – T  A  C   T  G  A   T   A  A  G  T  C  G  C  A – 3’

3’ – A  T  G   T  C  T  A  T  T  C  A  G  C  G  T – 5’
|    |    |    |    |    |    |    |    |    |    |    |    |    |    |

 ����	 2
5’ – T  A  C   T  G  A  A  A  G  C  C  G  C  A – 3’

3’ – A  T  G   T  C  T  T  T  C  G  G  C  G  T – 5’
|    |    |    |    |    |    |    |    |    |    |    |    |    |
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P:       AA    x    aa 

G:        A

F :              Aa         

G:         A       

F :                                   
                           

1 AA
2 Aa
1  aa

a

a
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P:       AA    x    aa 

G:        A

F :              Aa         

G:         A       
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P:       AA    x    aa 

G:        A

F :              Aa         

G:         A       
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G:        A

F :              Aa         
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P:                         x                      
         
                               

                                  

                           
58
14

∑ = 72

��������
� ��������
�
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��� ����������� ���� ���
�� 
���
��, ���� �� ��
���� 
���� ���
��, ������ ������� 
����, ��� ������� F1 ����� 
������� 
����, �  �� �
���� 
�������� — 58 ������� � 14 
���
�� 
�����. 

�������
� �����
�����. ������ ����
�
� �������� ���
�� 
� �������� F1?

1)  � F1 ����­���
�� ������-
������ => ������������ 
���
� ��
��������.

2)  � F2 ����­��­
�� 2 ����-

�
������� ������ => 
��������
�
 
��������� 
����	�� ������������ 
���
.F2: 
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72:4=18

58:18=3,222

14:18=0,778

3) H =3:1

P:                         x                      
         
                               

                                  
                           

58
14

∑ = 72

F : 

F : 
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Н

58

14

54

18

О (H - O)2
O

0,296

0,889
1,185

χ2

χ2= 0,296 + 0,889 = 1,185 < 3,841

Н – ����­������
О – ���������

��� ��� χ2<χ2    , 
� ��
�
��� Н0 �� �
������
��

H0=3:1
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1

3,841 5,991

2

7,815

����� 
�
�
����
�������     

3 4

9,488 11,070

5

12,592

6

14,067

7

χ2кр

кр

1

3,841
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4) �����
����� 3:1 => 
������ 
������ �����-
���
�� 
� 
�
� 
������ 
�������������.

5) ��
�������
� �������� 
���
�, � � F2 
��������­
 
����� �������� ���
� => 
�������
��� �����	 — 
�������.
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A_3F2:

G:     a A

G:     aA


